L = A AL A PR 4 B .

o= = ENAERA T [
MM RIS TR AE610E \ &

‘i::_
A MMT X _EHISTEAEC10E
Hi%: 0571-28006879 f&H: 0571-85193750 S, ; Fi%: 0571-28006879 f&H: 0571-85193750
www.resatec.com.cn teck@resatec.com.cn ; www.resatec.com.cn teck@resatec.com.cn

RESATEC CO.,LTD = » RESATEC CO.,LTD

»
R
E
5
A
T
£
c
A
G

DK-2625 Vallensbaek  www.resatechy

weorw.rit.dk Griechenland: Sidafrika:

AR EMANOUEL D. KOUMAKIS 5.4 OST Oscillating
: GR-546 28 Thessaloniki Systems Technology Africa
Mec Move AG . i 5
: wwrw koumakis.gr ZA-0127 Silverfon - Pretoria
SE-14922 Myndashamn G
www .oscillatingsystems.co.za
wWww,mecmove se

] mdﬁrurp-nsn applications
+ safe in i

RESATEC Universal spring systems - « vibration- and noisedamping

» .. -Fmru_uivu ringforce
versatile and efficient ::;;mnum"?m

RESATECHE f 1844 % B8 A mA &M o . RERS A

 REmMED
+ X

+ Levelling feet
RESATEC Levelling systems and * Anti-vibration mountings

. :o:lseﬂlmhilng plates
Anti-vibration technique - proven and economic « Corrosionsproof units

RESATECK ¥4 B 0888 5 A2 3 s F0 3T 1A o umEy

* HUWR S
« WA
+ iR i T



> RESATEC CO.,LTD

The Universal Suspension units

Applications in general engineering, conveying systems, agricultural
machinery, vehicle engineering, assembly plants, military equipment,
sports- and fitness units, efe.

WA RANY

ERTEMIENM. SERG., RV,
FW. KEOEE. FRESMEHENSE.

The Universal Tensioners

for tensioning, compensating, pressing, gideing and
dampening.

EE
ERTHKREER, BERE. EN
HEMESRES.

The Chain and Belt
Tensioners

for any power
fransmissions,

BRARMETIKES
RF&mMmENFL

The oscillating
mountings

For conveyors, screens, sorfers
and cleaners.

ik 5h 3 B
BTHWXEE. &
Ehim A RiE

The special elements

for specific applications from
custamer drawings.

Tk
RIEE A ERIRT

> RESATEC CO.,LTD

RESATEC-Rubber suspension units

Units for mechanical engineering with multi-function
purpose combine a bearing, spring, noise- and
vibration damper.

+32°

RESATEC K&

ISR B r A EMIbGE, BATIENMLE,
BEMK, BEMRERIEDININGE.

The rubber suspension unit with its unique and compact design,
made with natural rubber inserts, allows a large forque angle of
+32° The torsion angle is related to the permissible oscillating
angle. The torque force from O°up to 32 ° will increase progres-
sively.

The rubber suspension unit can take care of several functions at
the same time. It combines a spring, a bearing, a tensioner and
a noise and vibration limiting unit. The unif can be installed under
pretension as required. The features of the rubber suspension
unis have greal advantages against components with single
function only.

In spite of the simple system of rubber suspension units, a wide
range of specifed products can be offered.

Our range consists of:

Basic units fype LTS, LTA, LTKS and LTKA

Tensioners type TE, TEl in combination with KS and RE
Oscillafing mountings type OM, DH, CH, CE etc.
Antivibration mountings type DVM, CH

For the full range, suitable mounting brackets and clamps are
available. Rubber suspension units can be manufactured fo cus-
tomers drawings and specifcations.

The rubber suspension unifs are resistant fo mast chemical agents
[except petrochemical products). The rubber suspension units can
operate in a wide range of temperatures [-42°p to +85°),

The excellent economy of the units is strongly supported by its
maintenance free design.

For further information please contact our engineering deparfment.

B RTiE i, SREE, ABRRARE, T
B +32°mHI%E R, BEMEEMXMERASREEX
K. H3EH MO BIZ2 R AIRE .

B RTREEMERE A ThAE, ME THA, BEA
BERDERSENINEE. TURTERE. kIELHRE
BHMMENEERAEERES.

BAGERU S E S hENER.

AN &

BEAE™@mHE LTS, LTA. LTKS, LTKAZ,
WERES TE, TEl, KS, RES,
eeh3EEA OM, DH. CH, CE%,
HEHEESR DVM, CHE,

HTFETREEE, BRMNEBMERXIR, X7F, if
AERERHERE

HIHEE TIERESEHE: -42°C~+85°C
ZREBESFWR, THER.

HESZMER, WHRAENMIESD,



> RESATEC CO.,LTD

The most important facts:

REENN

+32°

jr A

-324

+85°C

|

large operating angle
BIEREX

Progressive spring characteristics

B R EHRRM

Noise- and vibration damping

IR A MR BT EIEEE

Safe in operation in any position

BT @ARATERIE

Resistant to temperature

EREREEE

Maintenance free

Tz % 4E 47

»> RESATEC

The characteristics of rubber:

=il
+207T

O RE
;' oaR o
- & on &
- 3
E"'-..__l__ %
]
H i
& £
o
K4 5
z 8 Sy
g = =
115% -
_\ —
E ___----'--EH-']L’F
-42¢ Room temp. +8_5“C
=
+2(=]%)
100%
/ \1\ .
-42T Room temp. +85C
B

Cold flow and setting
LRSS ER

Loss due to deformance of molecules  ~10%

P 25 B 1) B 342 75 T P (R B 4 e ~10%

Temperature influence : Torque reaction

im LR R

Temperature influence : Service life
{under normal conditions ~10 years)

iR 35 4L HE A 55 A D
(ERERTAER0EF )



> RESATEC CO.,LTD

Torquechart

The chart is applicable for all sizes of types LTS,
ITA, LTKS, [TKA

HIEE

TEHNERERFEMESHLTS,
LTA, LTKS, LTKA

Torque / {146

~100%

,/ -65%

rd
’/ 37%
f'/
/
/ ~16%
L~ =
0° 8° 16° 24° 32°

Examples of determination:
a.e. [TS 6-80 with torque M 215 NM at 32°

—ata forque angle of 15° = 35% = ~75 NM
— at a forque angle of 22° = 56 % = ~ 120 NM
—at a forque angle of 28° = 81 % = ~ 174 NM

a.e. [TKA 5-60 with forque M 85 NM at 32°

- at a forque angle of 107 = 20% = ~ 17 NM
- at a torque angle of 12° = 26% = ~ 22 NM
- at a forque angle of 26° = 73% = ~ 62 NM

This data determinded with the help of the above chart, can show
a tolerance of £10%, normally it will be much less. [The tolerances
result from deviations of material and shore hardness tolerances
as well as femperature changes).

All elastic materials will show a static deformation, known as
cold flow, after a period of time. For rubber the natural sefting
~cold flow- will result in a loss of approx 3 up to 4° from its 0°
position. This fact has to be considered for certain applications.

PR
#4032 B, LTS6-80KYHHIEME215NM,

-{ERH 15° =35%=~75NM
— {4 22° =56%=~120NM
-~ {46 28° =81%=~174NM

Flin32° Bf, LTKA 5-6087#0 %W £85NM.,

-4 10° =20%=~17NM
—{H4Em 12° =26%=~22NM
—HsEf 26° =73%=-62NM

Wi b EmEanER, WRIRHE £ 10%0AE,
ERFEATHEELD . AHEMREMRE, CHEFT
EERERREMNELS, BRINATUFHLEER,

FraEMRIEHREE—ENER., RIMNEEESH
FETEE—BREE, SKkSs FREMER3I-4°
EFREE/AP, HNLAEFREXEE,

> RESATEC CO.,LTD

J-GE Quaf_n'@%
& 5
150 9001

Universaltensioner Type TE

BAKERE TE

& %
] 3
w ]
= £

) &
4’0 sl

e QU'B:“\'

Rig. W, 1ATS5-08

& D

Art. N
g‘: ﬁg_“mn,scanir

=

F(N] £0-32° Weight
A, Ag Hil'kg

TE 2 55000002 80 &0 52 20 B85 38 80
TE3 55000003 100 80 63 25 105 48 8.5
TE 4 535000004| 100 8O0 YB 30 105 59 8.5
TES 55000005| 130 100 108 50 125 76 105
TE & 550 00006| 175 140 140 &0 205 97 125
TE7 | 55000007 | 220 175 198 70 205 112 125
TES 55000008 250 200 212 80 205 130 17.0

16 0 5 7 Mé& | 0- 90|0- 170 | 0240
21 1125 5 10 MEB | 0- 140 |0- 170 | 0.420
25 115 6 12 MI1D | 0- 320 |0- 430 | 0.600
32 155 8 15 M12 |0- 820 |D-1050 1.700
41 205 10 17 M1é6 |0-1500 (D-1880 | 3.700
51 255 12 18 M20 |0-2500 |0-3200 | &.400
52 290 20 20 M24 |0-3900 |0-4900 | B.450

The RESATEC Universal Tensioners Type TE are applicable
throughout the mechanical engineering and allied industries.
They are mainly fitted as chain and belt tensioners. With a single
bolt they are simply fitted by friction hold in any position.

The RESATEC Universal Tensioner Type TE is maintenance free
and safe in operation. They can be supplied with a lead- and
cadmiumfree powder coating.

RESATECHEAKESF/TERSEMRTENIRE
HAMEM T LNE, FELNATERMET
HERE, MRA—TEERTUREIES
g k.

RESATECHE R RAmNRRRETTREMN
EF, REWENHEERRY, THITEN.



> RESATEC CO.,LTD > RESATEC CO.,LTD

7
%, <
® de Quat™®
Universal Tensioner Type TE-I Tensioner for Frontmounting
(stainless steel) Type TE-FB
BRAKERE TE-I FIRERAEKERSE
( AEW ) TE-FB
< 2 Siips
g K
BT —
I - = | s
ane - |
K R |1 o
B I
- - B .
Tpe| AtNo (A1 A2 B C @D E F G H | K M| FIN40-32 | Weight Type T T
= RE Ay As HiR kg s ne A B K 1 R 5 T & kg
TE-12 | 550 000 22| 80 60 52 20 8.5 38 8.0 16 20 5 7 M&| 0-90 0-110 0.210
TE-13 | 550 00033 100 &0 63 25 105 48 85 21 1125 5 10 MB8| 0-140 | 0=-170 0.380 TE-3 FB 550 003 33 100 63 10 5 10 13 Mé 0.460
TE-14 | 550 00044 | 100 80 78 30 105 589 8.5 25 115§ 6 12 M10| 0-320 | 0-430 0.620 TE-4 FB 550 004 44 100 78 12 & 13 17 M8 0.450
TE-I& | 550 00055 130 100 108 50 12,5 76 10.5 32 155 8 15 M12| 0-820 | 0-1050 1.700 TE-5 FB 550 005 55 130 108 15 8 15 17 M10 1.750
TE-I16*| 550 00066 | 175 140 140 60 205 97 125 41 205 10 17 M16 | 0-1500( 0-1880 3.420 TE-&4 FB 550 006 66 175 140 17 10 17 25 M12 3.200
TE-I7*| 550 00077 220 175 198 70 20.5 2120 125 51 255 12 18 M20| 0-2500( 0-3200 6.490 TE-7 FB 550 007 77 220 198 18 12 23 14 M1é 5800
TE-8 FB 550 008 88 250 212 20 20 28 38 M20 Q.300
The RESATEC Universal Tensioner Type TE-l are applicable through- RESATECERKERTE-IRATE#MIRE
out the mechanical engineering and allied industries, where pos-  HIMIFIHEX BT, EHEHEMMELE. © The tensioner can be installed with a through going bolt; % 3 Y% 28 fik F3 — 4~ M T &5 i 21 i &7 (Y 42 #2 3k 22
Sllb{e corrision is not pefm]l”'ed. The}" are mﬂ'inr}( FJf.red as Chﬂiﬂ ﬁ]igﬂﬁ :_Fﬁ %ﬁ]ﬁ%aﬁg%ﬁ i HEH— where we have a shorfage Df _gpgce or fhe normar boff % 3 igEEEiEH ?Elﬁ] xﬁm%ﬂﬁio
and belt rerrsll'nners. With Jclr s:'nlgfe bolt simply f:'H.ed by Ifril'rcﬁon ‘hofd AR EEEEEEREMEE, I finds no room for fitting. - R E ) B T S M TER
at any position. The smaller sizes are made with stainless sinfer- |\ 7= =2 B BSR4 P 308 £ B9 T2 B0, The tensionforce and other characteristics are the same as AEH 2
material. The large sizes are welded. Mg KR EETRLY. for the standard tensioner Type TE. M3 R LR

The RESATEC Universal Tensioner Type TE-l is maintenance free RESATEC:E Ak BETE-IFIRE+ 4 2e
and safe in operation. L E I



> RESATEC CO.,LTD > RESATEC CO.,LTD

10

Sprocket Wheelset Type KS - Douplex
M HESE 42 KS-Douplex

Sprocket Wheelset Type KS - Simplex
B HEEE KS-Simplex

<
« g 2 =TT
[a] .
i o ) N
L I -
= B —a
o E T
T s S— Bhaln | Type Art. no Chain | weight
e . MO 0 of Tee el
'gﬂ i o @A B c D E & il?k e He e o c o E BE | mmg
N N Din 8287 9 Din 8187

eamrin | Bavcao 0 % o 2 T5°  Win B e | aaee KS 3/8"%7/32°-10D | 551 020 20 45.81 19.2 5.7 M10 60  |150-06B2| 0.20
i/l sp e [ en—— 15 g g yom D P - KS 1/2°x5/16°-10D | 551 030 20 61.08 22.9 7.2 M10 60  |1s0-0882| 0.5
k5125808512 | 581 04000 A iiia. w3 25 s B isecens | Bing KS 1/2*x5/16"-12D | 551 040 20 61.08 2.0 7.2 M12 g0 |1s0-0882| 0.5
ks 5/a%3/8*12 | 551050 00 &5 thuh. i R i |icoson | mae KS 5/8"x3/8"-12D | 551 050 20 76.36 28.6 9.1 M12 80  |ISO-10B-2| 0.60
KS 5/8x3/8°-20 | 551060 00 15 7636 15 91  M20 120 |ISO-108 | 0.700 RS 3/A0an /00200 99] 05020 | TRRM s i an By |scielr) e
kS 3471612 | 551070 00 1 spda 19 Wk ok so | isacin | odon KS 3/4"x7/16"-12D | 551 070 20 91.63 31.5 1.5 M12 80  |I150-12B-2| 1.05
KS 3/4716°20 | 551080 00 i o ia 18 ik Joe s |isosise | aoos KS 3/4°x7/16".20D | 551 080 20 91.63 34.5 1.5 M20 120 |1SO-12B-2| 1.35
K5 1°x17.02%-20| 551090 00 13 10614 15 16.2 M20 120 | 150168 | 1.300 KA 17080 s551:030.30 | 10618 Ho:4 T2 a0 o il Bl
KS 1 17453420 | 551100 00 3 19567 15 185 M2 140 | so208 | 2050 KS11/4"34"-20D | 55110020 | 132.67 515 185 M20 140 [150-20B-2| 3.60
KS1 17241520 55111000 i 19523 15 20 i 160 | 180248 | 2.400 KS11/2°x1-20D| 55111020 | 135.23 63.4 24.1 M20 160  |150-24B.2 | 4.25

The RESATEC Sprocket Wheelset is equipped with high
quality ballbearings. The bolf with nuts, the sprocket
wheels and the distance bushing are galvanized.

The RESATEC Sprocket Wheelset is equipped with
a high quality ballbearing. The bolt with nuts and

the sprocket wheel are galvanized.

RESATEC Bt S RER WRERMAL, RHEEaBREWRER A, Fie, B8 #

g2 BENEENRASERN. BRMEEHENEOEEEN.
Type Art. no Suitable for Type Art. no Suitable for
s = EH e we iE A
KS 3/8"x7/327-10 551 020 00 TE3-TE 4 KS 3/8"x7/32"-10D 551 020 20 TE3-TE4
KS 1/2°x5/16°-10 551 030 00 TEA-TE4 KS 1/2*%5/14%-10D 551 030 20 TE3I-TE4
KS 1/2"%x5/16"-12 551 040 00 TES K5 1/2"x5/16"-12D 551 040 20 TES
K55/B"x3/8%-12 551 050 00 TES K5 5/8"x3/8"-12D 551 050 20 TES
KS 5/8"x3/8%-20 551 060 00 TEH KS 5/8"x3/8"-20D 551 060 20 TE &
KS 3/4"x7/16"-12 551 07000 TES K5 3/4"%7/16°-12D 551 070 20 TES
KS 3/4"x7/16"-20 551 080 00 TE & KS 3/4"x7/16"-20D 551 08B0 20 TE &
kS 1m1 70350 48109006 tEd KS1°x17.02°.20D| 551 090 20 TE6-TE7
KS 11/4"x3/4°20 | 551 100 00 TE7 KS 1 1/4"x3/4"-20D0| 551 100 20 TE7-TEB
KS§1 1/2"x1"-20 55111000 TE7-TES KS1 1/2"x1"-20D 551 11020 TE7-TES8




o5 Q ua]'_n'@

B RESATEC CO.LTD (/="

> RESATEC CO.,LTD

12

£ %
] 3
2 g

£

Sprocket Wheelset Type KS - Triplex
ZHE R KS-Triplex

Chainrider type CR
ESFmR (84 )CR

Chainrider set type CRS
HxSFAR (F)CRS

S
<
o) 4 1 B
E . [
1 = .
Cc
- E = L
Type Art. no No of teeth Chgin Weight
e 58 8 @ A B c D E i e
o Din 8187 4
ma;a:msz:-mT 551 020 30 15 4581  29.4 5.7 MI10 60 |I1SO-06B-3| 025 Type At nin . . ) o . . . Chain | Weight | Tensioner
KS 1/2"%5/16°-12T| 551 040 30 15 6108 400 7.2 M12 80 |I1SO-08B-3 | 0.50 wE w8 e | ERke | HES
KS 5/8"x3/8%-12T| 551 050 30 15 7636 452 9.1 M12 80 |ISO-10B-3| 095
KS 5/8"x3/8"-20T| 551 040 30 15 7636 482 9.1 M20 120 |ISO-10B-3 | 1.25 CR3/8" | 55300010 | 74 40 102 3 i} ) i} ISO.06B | 0.02 _
KS 3/4"x7/16"-20T | 551 080 30 15 9163 540 115 M20 120 |1SO-128-3 | 1.50 crR1/2” | 55300011 | 96 50 139 10 s x " 1S0.088 | 0.05 i
KS17x17.02-20T| 551090 30 13 10614 788 162 M20 140 |ISO-16B-3 |  2.90 CR5/8” | 55300012 | 125 55 165 10 . n . ISO-108 | 0.08 #
KS 11/4"x3/4"-20T| 551 100 30 13 132.67 880 185 M20 140 |ISO-208B-3 | 5.20 CR3/4” | 55300013 | 147 80 195 12 . B ~ 150128 | 0.12 B
KS1 1/2"x1*-20T| 55111030 1 13523 1118 2411 M20 160  |ISO-24B-3 |  6.20
CRS 3/8"-8S7 | 55300110 | 74 40 102 8 1835 M8 45  |ISO-06B | 0.05 TE2
CRS 1/2"-10S | 55300111 | 9 50 139 10 2345 MI0O 60 |ISO-088 | 0.11 TE3/4
The RESATEC Sprocket Wheelset is equipped with a high- CRS 5/87-108 | 55300112 | 125 55 165 10  24-44 MI0 60 |ISO-10B | 0.14 TE4
quality ballbearing. The bolt with nuts, the sprocket CRS 3/4-125 | 55300113 | 147 B0 195 12  30-60 MI12 80 |ISO-12B | 0.22 TES

wheels and the distance bushes are galvanized.

RESATEC ZHiftst hm B AR M AL, 8R4k
B, ERMEEHENREHZEREN. The RESATEC Chainriders Type CR/CRS made of high quality  RESATEC %4 S E#CR/CRSH & /i £ ¥ I i
plastics (Vesconite), together with the RESATEC Tensioner Type TE B, B FRESATECK E=TE, E— XA HME

make an excellent, smooth running low cost chaintensioner. BRSNS RN R E AT

As both sides of the rider can be used, you may get a very high .
Type Art. no Suitable for service life. The chainriders can be built up for douplex roller- ™ BLF, FTELEAFGK, X4 #K SERLEA
WS ks EH chains. The combination of CRS/TE-| make up a corrosion- and ~ VAREINHER T8, CRS/TE-IE & #& 3 7] LA {E Fi#
KS 3/8"x7/32"10T 551020 30 TE 4 maintenance free chaintensioner. EEHEMAIRET,
K5 1/2"x5/16"-12T 551 040 30 TES
K5 5/8"x3/8"-12T 551 050 30 TES
K5 5/8"x3/8"-20T 551 060 30 TE &
K5 3/4"%7/16°-20T 551 080 30 TE&-TE7
K$ 1"x17.02"-20T 551 090 30 TE7-TES
K5 1 1/4"%3/4%-20T 551100 30 TE7-TE®
KS1 1/2"x1°-20T 551110 30 TE7-TE®




> RESATEC CO.,LTD

13
Rollerset Type RE
RHERE
A
| !
3 S I — ™
.. 4 [
)
A B
c
Type Art. no A B c oD E wil.ght
e HE F8/kg
RE 2 552 002 00 | 35 3 51 30 M8 0.075
RE 3/4 552 003 00 45 6 67 40 M10 0.170
RE5 552 005 00 60 75 89 60 M12 0.395
RE 6 552 006 00 90 9 127 80 M20 1.200
RE 7 552 007 00 135 7 167 80 M20 1.700
Type Art. no Suitable for
B "= &
RE 2 552 002 00 TE2
RE 3/4 552 003 00 TE3-TE4
RE 5 552 005 00 TES
RE 6 552 006 00 TE6-TE7
RE 7 552 007 00 TE7

The RESATEC Rollerset consists of the PA 6 roll with highquality ball bearings, galvanized bolt, nut and distance bushing.
RESATEC AR R HPAS MEIHIR FIS R EH A HE, B¢, BFNEENENREBEEEN.

The RESATEC Belt tensioners are used for automatic and maintenance free tensioning of V-, flat- and tooth belts.

RESATEC R iK Ess = HEB VML EHIPMVE., REMERES D,

Tensioner-Lock Type TL
SRAEEFIAE TL /i
Type Art.no A C Suitable for Weight ff Y i) Z\:\ i
BE &% B 0 EA Bk N
T5 58000105 8 104 130 745 60 13 TE5 __ 0.120 w / N/ T~
TLé6 58000106 10 128 161 94 75 17 TE 6 0.230 \ / } ]
The Tensioner Lock is required if sufficient friction hold, due to bad surface, is not / /
N
possible. (Material: Alu plate) b _ ||
KERBMESRKEEBHERINKAFN, FEATENRA.

(H#, 884 ) u

> RESATEC CO.,LTD

14
Mounting clamp TypeMS @@ 6— =@ —
1
REZEMS <
1 ,'
| A | i g Ipl
E
; Weight
Type Art. no A B c oD E F 9
e BE EFEE/kg
MS 2 580 000 20 20 20 2 5.5 37 50 0.03
MS 3 580 000 30 27 25 2 6.5 50 65 0.04
MS 4 580 000 40 32 30 3 8.5 60 80 0.09
MS 5 580 000 50 45 35 3 105 80 105 0.16
MS 6 580 000 60 60 40 5 12.5 100 125 0.29
MS 7 580000 70 75 45 5 12.5 115 145 0.45
MS 8 580 000 80 80 50 6 17 130 170 0.68
Mounting clamp Type CK
iy 4
REIRCK
— | < :
| gle
e B,
Weight
Type Art.no A B c 2D E F %6 i
Bs w®E BEE/kg
CK 5 580 000 55 10 40 3 62 92 125 105 0.30
CK 6 580 000 66 1 40 3 80 15 150 12.5 0.45
L D
L i
| é
" X 1
Mounting support Type MA I <
iy 8
REXEMA -0~ © \
H = ‘:—,1
Al & ENALY
.-#— '-J_—"
Type Art. no | Suitable for Weight
& A B CDE F G H J KL MN O iy
nS WS ... IT.. Rala
MA2-3 | 58000203 | 2 3 |46 50 30 4 30 10 27 3512 13 10 65 55 7 | 0.09
MA3-4 | 58000304 | 3 4 |58 60 32 6 40 10 34 44 14 13 12 85 65 7 | 019
MA4-5 | 58000405 | 4 5 |75 70 38 6 50 10 45 55 16 16 20 105 85 9.5 | 030
MA5-6 | 58000506 | 5 6 |98 90 52 8 6512575 75 21 22 25 125 105 11.5 | 0.63
MAG6-7 | 58000607 | 6 7 (116110 55 8 80 15 66 85 21 24 35 165 125 14 | 090
MAT -8 580 007 08 7 8 140 140 66 10 100 20 80 110 26 30 40 205 125 18 1.80




> RESATEC CO.,LTD > RESATEC CO.,LTD

Rubber Suspension Unit Type LTS Rubber Suspension Unit Type LTA
BEBRAKLTS BERRAHFLTA

J A A
c B B
Torque M in Torque M in
Type Art. no NM at 32 ° A B c D E Weight Type Art. no NM at 32 ° - n » - o . Weight
HE e 32°BHE M Eiikg # e e 32 W HLSEM Eilt/kg
[NM] (NM )
LTS 3- 25 560 430 25 g 25 30 27 15 11 0.08 LTA 4 - 30 560 540 20 20 30 s a2 18 -] 12 010
LTS 3 - 40 560 430 40 13 40 45 27 15 1 013 LTA 4 - 50 560 540 50 34 50 55 32 18 & 12 015
LTS 3- &40 560 430 60 19 &0 &5 27 15 1 0.9 LTA 4 - B0 540 540 BO 54 B0 85 32 18 & 12 0.26
LTS 4 - 30 560 440 30 20 30 a5 a2 18 12 013 LTAS - 40 560 550 40 55 40 45 45 27 8 20 0.26
LTS 4 - 50 560 440 50 34 50 55 a2 18 12 0.22 LTA5 - &0 560 550 60 85 &0 65 45 27 8 20 0.37
LTS 4 - 80 560 440 B8O 54 80 85 a2 18 12 0.23 LTA 5 - 100 560 551 00 140 100 105 45 27 8 20 0.62
LIs5- 40 560 450 40 56 40 45 45 27 22 0.27 LTa 6 - &0 560 560 60 160 60 70 60 38 10 25 0.41
LIs5- 60 560 450 60 85 &0 &5 45 27 22 0.40 LTa &6 - B0 560 550 80 210 BO 90 &0 38 10 25 0.80
LTS 5- 100 560 451 00 140 100 105 45 27 22 0.66 LTA 6 - 120 560 561 20 320 120 130 &0 38 10 25 1.15
LTs 6 - 60 560 460 60 160 &0 70 60 38 30 0.68 LTA 7 - 80 560 570 80 310 80 90 75 45 12 35 1.01
LTs 6- 80 560 460 BO 215 BO 90 &0 38 30 0.0 LTA 7 - 100 560571 00 390 100 110 75 45 12 35 3.00
LTS 6-120 560 461 20 320 120 130 &0 38 30 1.35 LTA 7 - 150 560571 50 580 150 160 75 45 12 35 4.45
LT 7 - 80 560 470 BO 315 BD 90 75 45 35 1.20 LTA B - 120 560 581 20 760 120 130 80 50 M12x40 40 370
LTS 7 - 100 580 471 00 390 100 110 75 45 35 1.46 LTA 8 - 200 560 582 00 1370 200 210 80 50 M12x40 40 6.20
LTS 7 - 150 560 471 50 580 150 160 75 45 35 2.16 LTA 8 - 300 560 583 00 2050 300 310 80 50 M12x40 40 9.20
LTS 8-120 560 481 20 720 120 130 80 50 40 2.20
LTS 8 - 200 5460 482 00 1300 200 210 80 50 40 3.50
LTS 8 - 300 560 483 00 2000 300 310 80 50 40 5.30
The RESATEC Rubber Suspension Units can be applicable inany RESATEC B2 2AHEHAFEM T IS
type of industry. Witha torgue angle of +/~ 327 and almost 2 = NP
The RESATEC Rubber Suspension Units can be applicable inany RESATEC BB EAGERFEM T M unlimited fixing possibilities, the units are very svitable for mod - =, " t‘BiﬁﬁJ e ﬁ{ﬁ WRRILT B T‘ﬁ .
' ' o : : i #l, RESTFHARVMMELREFHIRIES.
type of indusiry. With a forque angle of 4/~ 32° and almostun- g , t32 M EEBERNLENMUTZES, ern, maintenancefree engineering; even more as they often have . %5 =
limited fixing possibiliies, the units are very svitable for madern, BESFOANBELSE PN TGS, It o inullifundtion of fnsioning, pivalinig, beoring: and damping, IREAFKR € A, SR ANLE R RR RO TNBE
maintenancefree engineering, even more as they often have a EEAEKE. W, WRHEREMThEE The housing is made of steel, zinc plated or protected with o MBS ENMERME, REERNT MM
) 5 . s RIS ASATRAMBERE E, TR

multifunction of tensioning, pivoting, bearing and damping. The
outer- and innersquare tubes are made of steel, are zinc plated SMEBRINERH) TR MR RN, REEE

or protected with a lead- and cadmium free powder coating. B E A R,

lead- and cadmiumfree powder coating. The inner squares are

partly of lightmetal. The through holes can be fapped if required. EEELEAMIAERLN.



> RESATEC CO.,LTD > RESATEC CO.,LTD

17 18
%, <
® de Quat™®
Rubber Suspension Unit Rubber Suspension Unit
Typ LTK-S Type LTK-A
BRERBRAHLTK-S BREBRAMHLTK-A
A
B A
B
Torque Min Torque M in
Type Art.no | NMat3z A B @b WE DOF 6 n | e Type Art.no | NMat32® | g pc o0 o8 F 6 W | Weight
BE HE 32°F £ 5E M E kg BE ®e 32°RHHIEM & /Ko
[N { MM
LTK-5 5 - 40 560 350 40 56 40 45 62 22 27 ] 3 0.30 LTK-A 5 - 40 560 250 40 56 40 45 27 62 8 20 <] 3 0.25
LTK-35- &0 560 350 60 85 60 65 62 22 27 ] 3 0.40 LTK-A5- &0 560 250 &0 85 &0 65 27 &2 8 20 <] 3 0.35
LTK-5 5 - 100 560 351 00 140 100 105 &2 22 27 & 3 0.60 LTK-A 5 - 100 560 251 00 140 100 105 27 62 8 20 & 0.60
LTK-S 6 - &0 560 3560 60 160 &0 Jo a0 30 38 7 3.5 0.70 LTK-A 6 - &0 560 260 &0 160 60 70 38 80 10 25 ¥ 3.5 0.60
LTK-5 6 - 80 560 3460 80 215 80 90 a0 30 38 7 3.5 0.90 LTK-A 6 - 80 560 260 BO 215 80 20 38 &80 10 25 ¥ 3.5 0.80
LTK-5 6 — 120 560 361 20 320 120 130 B0 30 38 r 35 1.30 LTK-A 6 - 120 560 281 20 320 120 130 38 80 10 25 7 3.5 1.20
The RESATEC Rubber Suspension Units can be applicable in any RESATEC BB AN EAFEM T U The RESATEC Rubber Suspension Units can be applicable in any RESATEC B 8 REAHFEA T &7 T b9
type of industry. With a torque angle of +/~32° and almest un- i, + 32 WS E B L FE LR R type of industry. With a torque angle of +/~32° and almost un- W, +32 WHAEEBESH/LERMUTZRE,
imi i i i i . limited fixi ibilities the uni itable for modk ; o 3
oeoropostit e b v siele o7 ok, g iR RA T 2 s ot ooy il e 58 TARAMETRASNTE R 8 &
: ! JIh&e g e e : : RERBIKE. M. WRMEPRAINGEE.
multifunction of tensioning, piveting, bearing and damping. The RESAWR, W BAMEREOIIRE. multifunction of tensioning, pivoting, bearing and damping. The ” L i
) : N BRI EESTFRHEMETEE, HTEIF o : g BRI mES THEMETFERE, A TEHF
round housing allows to set the unit at any position with clamps. = ' round housing allows to set the unit at any position with clamps. ik .
For better friction hold the lightmetal housing is not coated. MEBEEE, FEEAHE. EEAAFENHE For better frictionhold the lightmetal housing is not coated. The H B E E  INFREEE, AEERREE AL
The innersquare is made of steel, zinc plated or protected with ENG, REOERNERATHTRAEE, innersquare, not coated, with four through holes can be tapped B, 4B ARERE N AL,

o lead- and cadmiumiree powder coating. if required.



J-GE Quaf_n'@%
& 5
150 9001

> RESATEC CO.,LTD > RESATEC CO.,LTD

£ %
19 j 3 20
fk&. Rng. Nr, 1375501 él:
e <
denu-a}\\-
Rubber Suspension Unit Type LTS-B Rubber Suspension Unit Type LTA-B
BEBREMHLTS-B BREBRAH LTA-B
L L
20 20
p quﬂ 0|z ol
v{bv
[ L)
B | ; : E = FT
E F
[} i
K &
I-_—-I -I P T i T
{ll I —1‘
L ] A & B | <o & Ej e
B
LTA-B - B s LTC-B T
Torque M in Torque M in
Type Art. no X B O Om & OE-@ w1 e | anew Type Attne A B € ©D E F G H | ©K L LICB NMat32
BE He e He @D aomimis
S{E‘PZﬁflﬂfEM [ MM )
T5B340 56143040 40 45 15 1150 65 2% 30 4 7 30 13 R eE s T e T
US-8430 56144050 50 55 18 12 & 85 32 36 45 9 ¥ 34 TAB 540 56155040 40 45 25 & 85 110 45 50 5 11 50 16 56
UIS-85-40 56145040 40 45 27 22 8§ 10 4 50 S 1 50 26 TAB 560 56155060 60 &5 25 8 85 110 45 50 5 1150 16 85
US-85-60 56145060 60 65 27 22 8 10 45 S0 S5 N 50 85 TAB 5100 56155100 100 105 25 8 85 110 45 50 5 11 50 16 140
IS-8 5100 56145100 100 105 27 22 8 110 45 50 5 N 50 140 TAB 660 56156060 60 65 33 10 100 125 61 66 6 13 66 20 160
LTS8 6-60 561 460 60 60 65 38 30 100 125 6l 66 ° 13 66 160 LTA-B 6-80 561 560 80 80 85 33 10 100 125 &1 && & 13 66 20 215
IS-8680 56146080 80 85 38 30 100 125 6 66 ¢ 13 66 215 ITAB 6120 56156120 120 130 33 10 100 125 61 66 & 13 66 20 320
75B 6120 56146120 120 130 38 30 100 125 6l 66 6 13 66 320 N e
SB700 56147080 80 B85 45 35 115 45 69 78 3 13 78 10 TAB7100 56157100 100 110 39 12 115 145 69 78 8 13 78 24 390
LSO 2I00 So147100 100 MO0 4> 5 o Ms 6 /0 8 13 7 390 TAB 7150 56157150 150 160 39 12 115 145 69 78 8 13 78 24 580
RN 55127020 b ). 93 g0 Nl 2 4. B .18 7 = TAB 8120 56158120 120 130 42 M2 130 170 75 84 9 18 84 30 760
US-88120 56148120 120 130 30 40 130 170 7 84 9 18 84 760 ITAB 8200 56158200 200 210 42 MI2 130 170 75 84 9 18 84 30 1370
TSB 8200 56148200 200 210 50 40 130 170 75 84 9 18 84 1370

*ITC-B on requeast

The RESATEC Rubber Suspension Unifs with integrated mounting

flanges help for easy installation. The outer housing are made
of sintered steel (size 3 +4) the larger sizes from Alu-profiles and
the sizes 8 from steel casting. The innersquare is made with o
through going bore which allows a free seffing af any position
with friction hold.

RESATECHE B8 ZRAMHLTS-BEHXR, &K
BA{E. sSTaSFRpim_2RRRasnIE

RESATECH B BZEHLTA-BAT T4, T
BHE, 3ST4SFERNINERAMEREENTE
gy, HXABRNASHHEEZEES, 88755
BRI RS, AfFREHAEFLAEEH, 8
EEmNREATENIL2RaTL,

The RESATEC Rubber Suspension Units with integrated mounting
flanges help for easy installation. The outer housings are made

ey, HAHMEMNBEENHEERESE, 88 m of sintered steel [size 3 +4) the larger sizes from alu-profiles and

A RLREM., NBRAS2MEHN, RiEEEs the sizes 8 from steel casting. The innersquare is made of alu-
= profile with 4 through going holes or, size 8 with threads.



> RESATEC CO.,LTD

Rubber Suspension Unit Type LTS-D

BB RAH LTS-D

g2y

A
B
Torque M in
T;pe e A B C D E F G NM at 32 °
= B0
32°RiH%E
[ WM
LT5-D 3-40 562 430 40 40 45 27 15 11 30 57 13
LT5-D 4-50 562 440 50 50 55 32 18 12 36 68 34
ITS-D 5-60 562 450 60 &0 65 45 27 22 51 Q6 85
LTS-D 6-80 562 460 80 80 85 60 38 30 66 126 210
T5-D 7-100 562 471 00 100 105 73 45 35 78 148 390
[T5-D 8-120 562 481 20 120 130 78 50 40 Q0 165 760
[T5-D 8-200 562 482 00 200 210 78 50 40 Q0 165 1370

& 5
1S0 9001
RESATEC CO.,LTD Y
» e ] 3 22
@ ®
fk&. Risg. W, EATS5-08 él:
P X ia'CJ
e QU'B:“\'
Rubber Suspension Unit Type LTA-D
mEBEAH LTA-D
it
e L : =
C A
£ B
Torque M in
Type Art. no A B c @b E F G NMat32
iRy &S 32°mHA
(NM )
LTA-D 3-40 562 530 40 40 45 27 5 57 10 30 13
LTA-D 4-50 562 540 50 50 55 32 4 &8 12 36 34
TA-D 5-60 562 550 60 &0 65 45 8 94 20 51 85
LTA-D 6-80 562 560 80 80 85 &0 10 126 25 66 210
TA-D 7100 562 571 00 100 105 73 12 148 35 78 390
[TA-D 8-120 562 581 20 120 130 78 12 165 40 0 760
TA-D 8200 562 582 00 200 210 78 Mi2 165 40 0 1370

The RESATEC double rubber elements size 3 and 4 have sinfered
steel housings, larger units are made from extruded alu-profile.
The housing of size 8 is made of casted steel. All innersquares
are made of galvanized steel pipe.

The application with series connection allows a torqueangel of
607 at nominal torqueforce M. The application with parallel con-
nection allows double torque M.

RESATECHE B RAHLTS-DRIIS M4SF~RRIINE
FANEHEMRRAGETZE, HAMBHNTRAITH
HERSE, sSFani=HE2EN. IARENRA
BACHHBSIEERE.

ESREEAELT, ZRIIFREAEREEXRE
B IE 1608 .

The RESATEC double rubber elements size 3 and 4 have sintered
steel housing, larger units are made from extruded alu-profile.
The housing of size 8 is made of casted steel. All innersquares
are made of extruded aluprofile. The size 8 is made with threaded
holes.

The application with series connection allows a forqueangel of
607 at nominal torqueforce M. The application with parallel con
nection allows double torque M.

RESATECH R EZREHLTA-DRISS 4SS~ mr o=
FAMBHERKAEETE, HAMBNZRINTH
BRfRe®, sErmiimmREHN. MEREMNN
EAGHEESEME. sSFRNRBATBHILERY
lo

ESRERABRT, ZRIFRAHBERERKIA
B|IE#605.



> RESATEC CO.,LTD > RESATEC CO.,LTD

Oscillating-Mounting Type OM Crankdrive unit Type DH
i 3h B % #F OM il #4 3% 51 3L DH

L
[ . .
— of ,
— N - B —
sl 4 | A (U | S | I
[=] A F S S 1 E
- ) | U a
p - ™y
c-.
e B
Typw Atno | o B ¢ o0 E F 6 H L M |F(N)| n | Weioht
Type Art. no A B C ©®D E F G H J K M |[GIN| n Halotn e i EER
e e b HF kg DH4 - 50R 571 040 50 40 36 12 6 24 25 50 58 55 MI2ZR 380 | 1250 0.200
OM 4R 570 040 50 40 61 5 9 24 33 82 58 &0 30 MI2R| 190 | 1250 0.28 DH4 - 50L 571 140 50 40 36 12 <] 24 25 50 58 55 MIZ2L 380 | 1250 0.200
oM 4L 57014050 | 40 &1 5 9 24 33 82 58 40 30 MI12L| 190 |1250 | 0.28 Tl GOR: |asfbERON || 22 9S8 B o B S A s el | ong| lete] pOeeh
OMS R 570 050 40 55 75 6 11 30 41 108 81 B0 45 MI&R | 380 780 062 DHS5- 60L 571 150 60 55 52 20 8 30 35 &0 a1 65 MIAGL Q60 | 1200 0.360
OM 5 L 570 150 60 55 75 6 11 30 41 108 81 80 45 MI&L | 380 780 042 DH & - 80R 571 060 80 80 72 25 10 40 52 80 115 20 M20R 1900 JEBO 0.980
OM 6 R 570 060 80 80 o8 & 13 40 53 130 115 100 &0 MZ0R 780 740 1.45 DH&6 - 80L 571160 80 80 72 15 10 40 52 80 115 20 M20L 1900 FEO 0.980
OM 6 L 570 160 80 B0 98 8 13 40 53 130 115 100 60 MI0L 780 760 1.45 DH7 - 100R 57107100 20 90 35 12 50 55 7100 135 110 M24R 3400 750 2.450
OM7 R 57007100 | 90 118 8 17 50 &3 170 135 130 70 M24R | 1550 750 2.40 DH7-100L 57117100 | 90 %0 35 12 50 55 100 135 110 M24L | 3400 | 750 | 2.650
OMTL 570 171 00 90 118 8 17 50 63 170 135 130 70 M24L | 1550 750 2. 40 DHE& - 120R 57108120 | 100 94 40 M12x30 60 44 120 147 130 M34 R 5800 | 580 6.000
OMB8 R 57008120 |100 140 10 17 60 75 180 147 140 80 M36R | 2400 580 5.05 DH&-120L 57118120 | 100 94 40 M12x30 60 64 120 147 130 M361L 5800 | 580 &£.000
OM 8 L 57018120 |100 140 10 17 &0 75 180 147 140 80 M36L | 2400 =80 5.05 DH 9 - 200R 57109200 | 120 120 45 M16x25 80 75 200 180 210 M42R |11500 330 | 17.500
DH9-200L 57119200 [ 120 120 45 M16x25 80 75 200 180 210 M42L (11500 330 | 17.500
DH ¢ - 300R 57109300 | 120 120 45 M16x25 80 75 300 180 310 M42R 17500 300 | 26.500
DH 9 - 300L 57119300 | 120 120 45 M16x25 80 75 300 180 310 M42L (17500 300 | 26.500
The RESATEC Oscillating-Mountings Type OM are used mainly RESATEC#RZNEE HOMEE A Firzh ik The RESATEC Crankdrive units are used mainly for shaker con- RESATECHMIEZIL DHET EH FiEohEiiE
for shaker conveyors and screens with eccentric drive. The fitting PLFEEShIEH L, Z RSN ERE R, sEF veyours and screens. These units are fitted between the drive sys- HLFNHREh I AL b . 18 e e 8 b o % OR 2 B 45 AN
of units is very easy and allow an optimal levelling of the trough. W — RN ENE, 3 TES tem and the frough. The unit is simply fitted at the drive shaft and W 6, 4 Bl IR TG 7
For the proper selection and fitting insfructions please ask for our HkEAE R, EAER. provides a perfect power fransmission. For the proper selection g

information with guidelines.

; e
and fitted instructions please ask for information with guidelines. j] Fﬁ » ATEH Hﬁ‘ﬁ,ﬁ'ﬂ RRm&Aa#R.
These Rubber Suspension Units Type DH can also be used for EAEBERAATRER.

several other applications.



> RESATEC CO.,

LTD

Oscillating-Mounting Type CH
ERZECH

M
Lload .
= max mex HE/N Eftkg BEFWMEHz

CH3d(lnox) 57003031 52 50 40 7 50 100

120 163 120 &5 45-155  0.840 3.6

CHA4-l(lnox) 57004041 &1 59 50 9 65 130

150 210 157 85 125-290 1.100 3.2

CHS5 57005050 80 77 o0 11 85 150

170 237 177 110 240-800 2100 3.0

CHé 57006060 105 102 B8O 13 100 184

208 305 235 125 600-1550 4.700 2.2

The RESATEC Oscillating-Mountings Type CH are the ideal sus -
pension for screens, sorters, conveyors and cleaners, Due to the
low frequency an insulation against vibration and noise frans -
mission through the foundation is possible. As result of the low
frequency and the sturdy construction of the element, bouncing
and wobbling during the starting and stopping period is strong -
ly reduced. As cause of the very high service life of the element,
downlime and maintenance costs are drasticly reduced.

The elements can be used in temperatures from — 42 up to +85° C.
Single units can be replaced.

RESATECEH R ECHE —NIEEMMEEZERSE,
AIATFIRENG ., MEN, BEN., RiFEN. BTEM
EMERMHEH, FTRESREDMRER LD, WEEE
HFRoMEILLARE, SR ESI RN D, %
EEFEREGK, BIEMEERE, TR EE,
T{ERE. 42T ~+85TC,

»»> RESATEC CO.,LTD

Oscillating-Mounting Type CH
BRI ECH

26
CH 8-200 CH 8-120
SISl o =

Type At.tno A B C€C D E F F
s w®Ws max

load .
G 6 H | K pginN Weight Frq. @ /Hz
TR wEN  Eitkg BEREH:

CHY 57507110 157 136 110 13 115 206 235

333 253 145 60 25 1300-3300 13.5 2.6

CH8120 57508130 168 152 120 18 130 230 2460

360 260 170 65 35 2400-5800 20.5 2.2

CH 8200 57508132 242 226 200 18 130 230 260

360 260 170 65 35 4000-9800 26.8 2.2

The RESATEC Oscillating-Mountings Type CH are the ideal sus-
pension for screens, sorfers, conveyors and cleaners. Due fo the
low frequency an insulation against vibration and noise trans-
mission through the foundation is possible. As resulf of the low
frequency and the sturdy construction of the element, bouncing
and wobbling during the starting and stopping period is sfrong-
Iy reduced. As cause of the very high service life of the element,
downtime and maintenance costs are drasticly reduced.

The elements can be used in temperatures from — 42 up to +85° C.
Single units can be replaced.

RESATECE B #ECHE—ZEMNBEE X HRES,
ATRAFREE . BE., WEN. RiEN. 5 FEE
EFEERGH, AUESEfEER /LY, MAAEIE
&BEhMBIEHEE, EhREAIERED . %
eEERSMIE, BEMEESE, TLRAMESR,
IiEBE: -42T ~+85T,



> RESATEC CO.,LTD

Oscillating-Mounting Type CH-D

BRI ECH-D

Cl c2

Load :
L) Atmo A B Cl C2D E F F G G H FI F2 p.p, Weight Frq.@/Hz
8= RE max max WEN  Eikg BEFEEMHz
CH-DE120 57608120 308 299 120 120 18 130 230 260 360 280 170 35 35 5000-12000 33.4 2.2

CH-D-8-200

57608200 457 449 200 200 18 130 230 260 360 280 170 40 40 8400-20000 53.5 2.2

CH-D-8-120/200 57608212 388 379 120 200 18 130 230 260 360 280 170 35 40 6000-16000 428 2.2

The RESATEC Oscillating-Mountings Type CH are the ideal sus-
pension for screens, sorters, conveyors and cleaners, Due to the
low frequency an insulation against vibration and noise frans-
mission through the foundation is possible. As result of the low
frequency and the sturdy consfruction of the element, bouncing
and wobbling during the starting and stopping period is strong-
ly reduced. As cause of the very high service life of the element,
dewntime and maintenance costs are drastically re-duced. The
elements can be used in temperatures from —-42 up fo +85° C.
Single units can be replaced. By selecting different length of
the rubber elements, the osr:r'”aﬁng mountings can be determined
precisely acc. the weight and room conditians,

RESATECE E X #ECHE—HBEHEMBEIHEE,
AATFIRshIG . fHiks. WEN. KiEY. BFEM
ZEERLEH, MUESRDITREL L), MAER
EREFMELMEE, ESFRENEFSIFEIELT. &
EEERAEGK, RIEMEEHE, TUIEAMER,
T{ERE: -42T ~-+85T,
AUEEEEEEMTERERIEERS .,

»»> RESATEC CO.,LTD

o5 Q uaf_n'@

o
& 0 o0

28

Oscillating-Mounting Type CS

BRXIECS

%
3
2

£

Type Atno A B C D D1 E
ag =

Load :
F F G H MinN Weight Frq. @ /Hz

max HEN Fitkg BEFMEHz

C56-80 57706080 98 126 50 11 13.5 80

244 210 150 176 1600-3200 7é 4

CS7110 55707110 132 158 80 135 18 110

300 254 170 220 2800-5800 116 3.5

C58-120 57708120 142 167 Q0 135 18 120

330 285 185 235 3BO0-8B0O 16.2 3.4

CS 8200 27708200 222 247 90 135 18 200

330 285 185 235 1000-15500 27 3.3

The RESATEC Oscillating-Mountings Type C5 are the ideal sus-
pension for screens, sorfers, conveyors and cleaners. Due fo the
low frequency an insulation against vibration and naoise frans-
mission through the foundation is possible. As result of the low
frequency and the sturdy consfruction of the element, bouncing

and wobbling during the starting and stopping period is strongly
reduced. As cause of the very high service life of the element,

downlime and maintenance costs are drastically reduced.

The elements can be used in temperatures from =42 up to +85° C.

Single units can be replaced. These units are used in more heavy
equipment for very high load capacity. The units require less

mounting space.

RESATECEBEFHECHE—IEEMNBEIHES,
AT FRE0E . ik, EEAL, EEN. BTESE
EMEEREH, FUESREDSMEREELD, MAEE
FRMELEMEE, EafMRESaERE L. &
EEEREGK, WIEMSEERE, BT EHETLIERS,
TAEBE: -42TC ~-+85C, ATl&4 B, THLATSE
EFHBERER, FESAESEN,



> RESATEC CO.,LTD

Universal Oscillating Unit Type CE
i A & 7R #E SLCE

> RESATEC CO.,LTD

o5 Q uaf_n'@

o
& 0 o0

30

Anti-Vibration Damper Type DVM
HEZPEDVM

%
3
2

£

»
® de Quat™®

11
'E
G
Type Art. no A B c @D E F G H H Load/MN Weight | Frequenz
= &S Boh | TEE(N) Eildkg | @E (Hz)
DvM3 | 58003100 | 85 &5 10 7.2 30 14 50 56 40 - 400 | 0.430 7-1N
DVM 4 | 58004100 | 100 B0 10 92 40 15 61 &7 46 | 300-1250 | 0.690 7-10
DVM5 | 58005100 | 130 110 15 11 50 15 72 92 65 | 900-2100 | 1.640 6-8
DVM 6 | 58006100 | 170 140 15 14 80 235 116 118 85 | 1500-3600 | 3.500 5-7
DVM 7 | 58007100 |onrequest {fEE % 3000 - 6000 4-5
DVM 8 | 58008100 | onrequest {RiEE®R 5300 - 9200 4-5

T
¢ L
[~ KR !
s Frn VRV =
~ xﬁ S *
]
= i \QL;
- —RESATES—-
| |
B
A
Type Art. no A B ¢ D E H Lﬂ.ud Ui REM Weight
o e +- MinN T A
= =
0.3 N +-5 Hiltkg
CE-A 4-80 572 040 80 85 80 32 o] 12 &4 300 800 1.20
CE-A 5-100 57205100 105 ) 45 8 20 o7 750 780 3.20
CE-A6-120 572061 00 130 120 &0 10 25 130 1500 780 &.4
CE-A 7150 572071 50 160 146 72 12 35 154 2800 580 5.20
CE-A 8200 57208200 210 194 78  MIZ2x50 40 172 5500 400 11.30
CE-59-300 57209300 310 290 100 MI16x50 45 200 2500 320 2620
CE-S11-300 572113 00 310 290 136 M20x80 &0 172 13000 145 52.00
CE-511-350 572113 50 310 340 136 M20x60 &0 172 16000 145 &66.00
CES11-400 572 11400 360 390 136 M20x60 &0 172 18000 145 72,00
CE-512-400 572124 00 410 390 170 M24xBO 75 334 28000 110 10700
CE-512-500 57212500 410 490 170 M24xB0 75 336 346000 100 135.00

The RESATEC universal oscillating units are very suitable for
rofationscreens with eccentric/drive or for free hanging screens
with unbalanced motor drives. The connecting rods between units

are vsually produced by the screen manufacturer.

The mounting flanges for the units can be made by RESATEC up

on request.

RESATECE A#l B# 4 CERES THETH LR
PHRFERERYFUESTRFENENNEBEE
MRS 0E, =EERERERET RGO I S
S, REXRTREEFEZHRESATECEH#.

The RESATEC Anti-Vibration-Dampers Type DVM are suitable for
active and passive isolation in all sectors of engineering. They
can be used under pressure, fension and as well sideways as a
buffer or stopper.
The RESATEC AntiVibration-Dampers Type DVM are maintenance
free and safe in any position.

RESATECHE B £ i EDVMIE B 7E T2
MEDRBFEMEIRIRESE D, CIRES
[, BikAhMBRTER, B IEAE
hEE{E ., RESATECE B S mBDVMEHE
i, AEACERERSER.




> RESATEC CO.,LTD > RESATEC CO.,LTD

31 32
Oscillating-Mountings Type DB/DB-F and TB/TB-F Anti vibration mounting Type G1/ GN 1
1% % B X 4 DB/DB-F#TB/TB-F HWRKHG1/GN1
Fi
i
!
l MxL
Ft | ;
oune
@ d i g
The RESATEC-Oscillating Mountings type DB and TB are used for (T : :é
shaker conveyors, sorters, screens and cleaners with eccentric i 77 |
drive. They are the flexible, maintenance free connections for the mr fq:%/f/@ I %/f% : : :
one or two mass systems. | |
The types DB and TB are produced with fix elementcenter G1 - e = GN 1 2o
distance. {The types OM are used for adjustable rockerarms and
small quantities.)
Both types DB and TB are produced with welded steel or, for Type Art. no Mzl - & d H min. h Fmax | Weight
larger quantities, in casted in aluminium . If required, the types 28 53 i fafi (kg) | Ei/kg
DB-F ﬂnd TB-F can be m-::-de Wr'fh Hanges. G1-80 250 100 80 ol 80 & o 18 250 0.13
G1-130 250 101 30 - 130 6 - 22 800 0.47
GMN T - 80 25110080 | M12x 8O 80 & 30 18 250 0.21
- g ; 5 GN 1-80 25110081 | M16x120 80 6 34 18 250 0.35
RESATECHEHBEIE #DBMTBIE AT RAME ML i’ GN 1-130 25110130 | M20x120 130 6 43 22 800 0.81

HEMEEBCEINE RN L REER.EFEP.ATH

THREENENEHEEE L.
The RESATEC Anﬁ-ﬁbmﬁan-MDunﬁng Type G 1 /GN 1 is made of

DEBMTBELHABEEMER(OMEES FTAET ., ¥
BEOMIERT.)

DBFfITBARZ RIS MR, INREFEREBAIETLIHE
B, MBEEPREBEMIE, DB-FMTB-FiER M E2X,

As most often the RESATEC Oscillating-Mountings are specific built for customers, we can produce these units
according your needs. Customised data and dimensions can be given up on requests. The surface treatment

can be made against requirement.

RESATEC#RZWEl {4+ DB/DB-FHMTB/TB-FEEiH2izE EHARTIMERFELET/, FEAEHAT

BREREREM™,

-
e
*
#
=
>
i
.‘_‘g’
=
-
s
2
-
4
|
ri
-« .

-

an aluminium cast cover with a sylomer-anti-vibration and noise

limiting plate. The additional levelling system with a zinc plated

bolt is connected to the cover and free furnable. The system can

take up a 5° angle for base correction. The types G 1/GN 1 have

a natural frequency of 15 25 Hz within the recommended load-

ing range.

RESATECEEKMG1/GN1Z AEHHEA A EHR
MEREN, K EUENABREH —THEFNRLERE
ERAR, EXERIEZ EHTLABES. EWHIE
Sl E. GIUGNIMEEMER15-25Hz,

HEARIBH AT,

Applications: Anti-vibration and noise dampening suspensions
for ventilators, air canditioners, conveying and handling systems,
household appliances, pumps, compressors efc.

BF: ZmREMATERFEREE. Zif. 8.
FHEE., REEH. RNEHNE.



> RESATEC CO.,LTD

> RESATEC CO.,LTD

33
Anti vibration mounting Type G 2 / GN 2
HMEREMG2/GN2
Ft |
i
@d | | )
- f=
i NELR z™
< m ! W/V/// ol |
f o ::/1 ] /}._ : : 1
. - |
G2 |- LA GN 2 oD
Type Art. no H min. Fmax | Weight
MxL @D od h
e Re § L 7 (kg) | Ei/kg
G 2- 80 | 25020080 - 80 6 - 16 500 0.13
G 2-130 | 25020130 = 130 6 . 20 1600 0.48
GN2- BO | 25120080 | M12x 80 80 6 30 16 500 0.22
GN2- BO | 25120081 | M16x120 80 & 34 16 500 0.35
GN2-130 | 25120130 | M20x120 130 6 43 20 1600 0.84

The RESATEC Anti-Vibration-Mounting Type G 2 /GN 2 is made of
an aluminium cast cover with a self-adhesive isolation plate. The
additional levelling system with a zinc plated bolt is connected to
the cover and free turnable. The system can fake up a 5° angle for
base correction. The fypes G2 /GMN 2 have a natural frequency
of 30-40 Hz within the recommended loading range.

RESATECH EREMG2/GN2REA— 1R ESME
MiEEmEEE, KFUEMNRAEEE—TEBRAO KL
WM, EERIEE LHTLABEES, EF
BLEIES L AMIRE . G2/GN2BI Bl 5 41 % 230-40Hz,
HEEFFERARIEEN AT,

Applications: Anti-vibrafion and noise dampening suspensions
with high stability for processing machines, assembly-units, rextile
and other machines.

FR: ZARKENERSNERABREHRE, THTE
fmTiEs., KEAH. HANMMEENH.

34
Anti vibration mounting Type K 1 / KN 1
R REIK1/KN1
FY
il
I MxL
K1 FY mune 1
@d |
T T I
I |
£ ——— —
K1 KN 1
Type Art. no H min. Fmax | Weight
s e ok 28 g &b " | mlig) | ERkg
K 1- 80 250 300 80 - 80 & - 18 1000 0.9
K 1-130 250 301 30 - 130 & - 22 2500 0.65
K 1-170 250 301 70 - 170 - - 30 7000 3.30
KM 1- 80 251 300 80 M16x120 80 & 34 18 1000 0.40
KN1-130 | 25130130 | M20x120 | 130 6 41 22 2500 1.00

The RESATEC Anti-Vibration-Mounfing Type K /KN T is made of
an aluminium cast cover (Type KI170 spheroidal graphite cast
iron) with a stainless steel wire cushion. The additional levelling
sysfem with a zinc plated bolt is connected fo the cover and free
turnable. The system can take up o 5° angle for base correction.
The types K 1/KN 1 have a natural frequency of 20-25 Hz with-
in the recommended loading range.

RESATECEEEMKI/ KN12H—1THEHEFESEM

THEWL AR, EhKI-17028 55 MM, Kk
FuEMAZEHE - EEMRLEREEEN, E

EEREE FHEBABEED, ERLIYES RLAKNIE
#, K1/KN1# B H I ERE20-25Hz, #FEREAN
RHmaE.,

Applications: Anti-vibration and noise dampening suspensions
with high stability for drilling-milling and printing machines hy-
draulic presses efc.

EFl: ZEBEEMAFRENNEARSEME, T
ERATEE . BEMEBIY ., KERSE.



> RESATEC CO.,LTD

Anti vibration mounting Type K 2 / KN 2
W REMK2/ KN2

MxlL

=y
K2
Type Art. no H min. Fmax | Weight
52 Fe Ml 2 @d R h | 58 (kg) | Eilikg
K 2- 80 250 400 80 - 80 b - 28 1000 0.27
K 2-130 250 401 30 - 130 & - 32 2500 0.92
K 2-170 250 401 70 - 170 - - 40 7000 .72
KN 2- 80 251 400 80 M16x120 80 & 44 28 1000 0.48
KN 2 -130 2517 401 30 M20x120 130 -] 51 32 2500 1.30

The RESATEC Anfi-Vibration-Meounting Type K 2 /KN 2 is made of
an aluminium cast cover (Type K2-170 spheroidal graphite east
iron] with a stainless steel wire cushion. The additional levelling
system with a zinc plated bolt is connected to the cover and free

turnable. The systern can take vp as”® angﬁs for base correction.
The types K 2 /KN 2 have a natural frequency of 15-25 Hz with-
in the recommended loading range.

RESATECHERERIK2/KN2EREHBHFEENAEH
MeEBREARN, BPK2-17T02HHBHMA M. KFEAL
EMAERS—MESMRLBRETAN, TERE
Bt EHEBBED, ERRYES IAMKRE.
K2/KN2RI Bl B 5 E & 15-25Hz, EFERRMRM4
) T,

Applications: Elastic suspension with high demand of clamping

eﬁrr:fency for grr'ncﬁng, hanfng, pressing, fafdfng machines, frans-
formers efe.

BR: ZREEHEARENBERRASEEESESE
RTERE, WHE, EH., HFENE.

> RESATEC CO.,LTD

o
& 0 o0

o5 Q uaf_n'@

36
Levellingfoot Type VP
7K EREIVP
—I—F max
|
| MxlL
1
1\i’/
|
3 J— |
I
@D
Type Art. no Fmax | Weight
@D H h M=xL
Be He ) 2% (kg)| Eiltikg
VP- 50 M10x 30| 330200 50 50 s 20 M10x 30 400 0.07
VP- 50 M10x &0 | 330200 51 50 as 20 MI10x &0 400 0.08
VP- 50 M12x 65| 33020052 50 as 20 M12x &5 500 0.10
VP- 50 M1é6x 70| 33020053 50 37 20 M1é6x 70 &00 0.15
VP- 50 M16x120 | 330 200 54 50 37 20 M 16 x120 600 0.22
WP- 60 M10x 60 | 330200 &3 &0 35 20 MI10x &0 400 0.07
WP- 60 M12x 65| 330200 60 &0 35 20 MI12x &5 500 0.10
VP- 60 M1éx 70 | 330 200 &1 &0 37 20 M16x 7O 600 0.16
VP- 60 M16x120 | 330 200 62 60 37 20 M 16 x120 600 0.23
VP- BOM12x 65| 330200 80 80 35 20 MI12x &5 800 0.11
V¥P- BOM16x 70| 330200 81 80 37 20 M16x 70 800 0.7
VP- B0 M16x120 | 330 200 82 a0 37 20 M16x120 800 0.24
VP- B0 M20x120 | 33020083 a0 37 20 M 20x120 800 0.24
VP-100 M16= 70 | 330201 02 100 37 20 Ml16x 70 800 019
VP-100 M16x120 | 330201 01 100 37 20 M16x120 800 0.26
VP-100 M20x120 | 330201 00 100 37 20 M20x 120 800 0.36

Foot PA black, fibre -reinforced, bolt galvanized with balljoint, free  TRBRIH I E R BPA, B —FhinE a0 4, pksk

turnable. Can be supplied with levelling nut.
Noise- and vibrationimiting plate see sep. page 39.

BENRAEESN, EEOR%D, EHNEEG—
EERSER. RRNEERFESEHEION,



> RESATEC CO.,LTD

»»> RESATEC CO.,LTD

Qu,
a“eﬁ ﬂfffq i

v I,
ig@ ISO 9001 4

@
HISES
O/
@,
e X iac’
de Quﬂ!\\\-
Levellingfoot Type IP (inox) Levellingfoot Type KP
7K BIIP (7R 4% 4R) K S BIKP
*LF max
; '
[ MxL _l_F max
I
[ l _MxlL
l |
+
T I
| S H
- 5 ] T |
_ @D _ | |
-« % | —
@D
Type Art. no &b H h MxL Fmax | Weight
Bs =S B (kg) | H&/kg
IP- 50 M10x 60 | 340200 51 50 35 20 M10x 60 400 0.08 —— P = T
IP- 50 M12x 65 | 340 200 52 50 35 20 M12x 65 500 0.10 5;':' ﬁé"" @D H h MxL 2 (kg ] ﬁ.ﬁkg
IP- 50 M16x 70 | 340 200 53 50 37 20 M16x 70 600 0.15 =
IP- 50 M16x120 | 340 200 54 50 a7 20 M 16 %120 600 0.22 KP- 50 M16x 70 | 35020050 50 39 20 Ml6x 70 400 0.04
IP- 60 M10x 60 | 340 200 63 60 35 20 M10x 60 400 0.07 KP- 60 M16x 70 | 350200 40 60 39 20 Ml6x 70 400 0.05
IP- 60 M12x 65 | 340 200 60 60 35 20 M12x 65 500 0.11 KP- 60 M20x 70 | 350200 61 60 39 20 M20x 70 400 0.06
IP- 60 M16x 70 | 340 200 6] 60 37 20 M16x 70 600 0.16 KP- 60 M20x120 | 350 200 62 60 39 20 M 20 x 120 400 0.08
IP- 60 M16x120 | 340 200 62 60 37 20 M16x120 600 0.23
KP- 80 M16x 70 | 350 200 80 80 39 20 M16x 70 600 0.06
IP- 80 M12x 65 | 340 200 80 80 35 20 M12x 65 800 0.12 KP- 80 M20x 70| 350200 81 80 39 20 M20x 70 600 0.07
IP- 80 M16x 70 | 340 200 81 80 37 20 M1éx 70 800 0.17 KP- 80 M20x120 | 350 200 82 80 39 20 M 202120 600 0.09
IP- 80 M16x120 | 340 200 82 80 37 20 M16x120 800 0.24
IP- 80 M20x120 | 340 200 83 80 37 20 M20x120 800 0.34 KP-100 M1éx 70 | 350201 00 100 39 20 M16x 70 600 0.08
KP-100 M20x 70 | 350201 01 100 39 20 M20x 70 600 0.09
IP-100 M1&x 70 | 340201 02 100 37 20 M16x 70 200 0.19 KP-100 M20x120 | 350 201 02 100 39 20 M20x 120 &00 o
IP-100 M16x120 | 340201 01 100 37 20 M 16 %120 800 0.25
IP-100 M20x120 | 340 201 00 100 37 20 M 20 x 120 800 0.36

Foot and bolt PA black, fibrereinforced with balljoint, free [FEE L ELHHETEZAPA, 2—fin

rurqabia- S EEGTHE, BEAmED,
MNoise-and wbrc:rhon—hmmng plrﬂfE see sep. page 39. AENRSRESEE307

Foot PA black, fibre -reinforced, bolt stainless steel with ballicint, JEZEFHHEEZEPA, 2—FhinBR T4, kL
free tuable. Can be supplied with levelling nut. B E R RS, EEhEh, fEmEg—

ise- and vibration-limiting pl ;
MNaoise- and vibration imifing plate see sep. page 39 BERoEH., 2B %ﬂﬁ#%%aﬁﬁ )



> RESATEC CO.,LTD

Noise and vibration-limitingplate Type NBR

MEMEFENBR
@
@D
Type Art. no Suitable for type Weight
@D B gl

b ] HE A= Eiikg
HBR 50 302 000 50 44 [ VP, IP, KP 0.01
HBR 60 302 000 60 54 [ VP, IP, KP 0.02
MBR B0 302 000 80 74 [ VP, IF, KP 0.03
MER 100 302 001 00 @4 & YF, IF, KP 0.05

Plate ribbed, noise- and vibration limiting, slide resistant.

WERFER, REDRETRER, B

Noise and vibration-limitingplate Type PUR - |
WRMBEEPUR 2D
Type Art. no — B Suitable for type Weight
ss ®e S & #/kg
PUR 50 301 000 50 44 3.5 VP, IP, KP 0.01
PUR 60 301 000 60 54 35 VP, IP, KP 0.01
PUR 80 301 000 80 74 35 VP, IP, KP 0.02
PUR 100 301 001 00 94 3.5 VP, IP, KP 0.02

Plate plain, noise limiting, slide resistant, suitable for food
processing plants,

TEERDERE, BHE, SATRARNMIESE.

Chaintensioner TE/KS

«Z» mounfing

BRI R AR
TE/KS-Z&

Chaintensioner reversable drive
TE/KS Douplex

THEHE F%5K 2% TE/KS-D
HEEAIERT

Oscillafing screen suspension fype CH

8t % 3 ¥ EECH

Pantagraph suspension DB-S

B LR ESEDB-S
—— — -_ ot 330 R
Beltscraper unit

( ]l i) 1|| ‘t\‘ ‘1 1‘1 “‘l 1 ;; :éserim%ﬁ

‘ LTS-S-IS |
1\. )|y LI

See-saw unit [TA-MS-5

— BRERIRE ELTA-MS-S



Q
/eﬁe& %

> RESATEC CO.,LTD > RESATEC CO.,LTD (===t

| 3 HEe—
II\'%&. Rog. W L37EG-00 $
\\5’%}«3____/{,&“
ke :E_Quﬂl“
Example applications Example application Universal Tensioner Type TE
Eﬁif&ﬁﬂ ERAKESRTEMR AXH

Oiscillating unit on dewoathering screen

B R TR TR EN 0 £

Wiper suspension of a snow plow

BRA#ERTIL

Belt scraper with RESATEC tensioner and special ring lever Universal tensianer with a rollerset on a packaging machine
RESATECSH 3R %5 & B 7 B4R £ A9 5 A IR MR R SR E RN LR R A

Vrbrahg el’emem of pumpbn seed horu;-s.rer - - Single deck vibrating feeder with OM elements Exu m Ple (e | PPI icqfiu n osc i I I afi n g U n i" Type C E

B2 G RR L #73 B1 AOMAE R it 44 88 - s
i F 6 7R % S.CE MY B A 3E

Oscillating mounting af twindeck screen Stop at cirguit breaker

BRXEEANERNE L 0048 1475 R R BT ER RE

Universal oscillafing unit on a gyratory sifter _ﬁE] = }i-ﬂ; R IR G J:B{] Eﬁ]



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22

